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BUS X BiER : 2024F6H4H (K) Xix: E&E
[[Yivd gERyELZ | OUT| IN |Gross|HDCP| NET =Yy BBy ELZ | OUT| IN |GRoss|HDCP| NET
B ps| FKE #X= | 56 | 54 |110(33.6| 76.4 41 | BR WA | 49| 49 | 98 |19.2| 78.8
#eEps) NH O 3K | 46 | 46 | 92 |15.6) 76.4 42 | B/K FEE | 51| 47 | 98 |19.2| 78.8
3 fi7| 6K =BH | 53| 50 |103|26.4| 76.6 43 | 2& Tz | 47 | 51| 98 |19.2| 78.8
4 fi7| AR & | 48 | 43 | 91 |14.4) 76.6 44 | %)l =Ehf | 46 | 45 | 91 |12.0| 79.0
5 fiz| KW &2 | 45| 46| 91 |14.4| 76.6| |4 547| LR 3REA | 47 | 50 | 97 |18.0| 79.0
6 fi1| &4 Z&¥F | 52| 51|103|26.4| 76.6 46 | KN FAA | 50| 41 | 91 |12.0| 79.0
7 fi7| A 8 | 53| 50|103|26.4| 76.6 47 | —”H #fE | 58 | 57 |115/36.0| 79.0
8 f| Al #|A | 44 | 41| 85| 8.4 76.6 48 | LLU#E ZEE | 54 | 43 | 97 |18.0] 79.0
9 f7| "IN E#4L | 48 | 42 | 90 |13.2| 76.8 49 | LB &S | 56 | 40 | 96 |16.8| 79.2
1 0fz| "I i# | 55|53 |108/31.2) 76.8| |50z %% {-& | 51 | 57 |108|28.8| 79.2
11 | 28 #0088 | 53 | 55 |108|31.2| 76.8 51 | 8AH E27¥ | 51| 51 |102|22.8| 79.2
12 | f® B | 45| 51| 96 |19.2| 76.8 52 | &K #IE | 43| 52| 95 |15.6| 79.4
13 | A%¥F HER | 44 | 45| 89 |12.0| 77.0 53 | WA X | 64| 49|113|33.6| 79.4
14 | TR #h>= | 46 | 49 | 95 |18.0| 77.0 54 | EA =# | 51 50 101/21.6) 79.4
1547 LA B— | 46| 43| 89 |12.0| 77.0| |5547] & IEE | 54 | 58 |112(32.4]| 79.6
16 | T = 44 | 45 | 89 |12.0| 77.0 56 | 2B%8 & | 57 | 55 112(32.4| 79.6
17 | AR &EF) | 46 | 49 | 95 |18.0| 77.0 57 | FF &z | 60| 51|111(31.2) 79.8
18 | /NIl #=fff | 46 | 47 | 93 |15.6| 77.4 58 | FA¥ <Y | 53| 52 |105(25.2| 79.8
19 | #uli  Ip | 51 | 42| 93 |15.6) 77.4 50 | A0 &5 | 48 | 50 | 98 [18.0/ 80.0
2011 v &=z | 46| 47 | 93 |15.6| 77.4| |6 04z &L B | 54 | 50 | 104|24.0| 80.0
21 | K =X | 57| 47 |104|26.4| 77.6 61 | &F 5MH | 48 | 50 | 98 |18.0| 80.0
22 | XRsh EE | 51|47 |98 (204 77.6 62 | =%F J#BA | 53 | 62 |115|34.8| 80.2
23 | #8AKBE—HB| 52| 45| 97 |19.2]| 77.8 63 | =/l E3%x | 56 | 58 |114|33.6| 80.4
24 | A% | 40| 45| 85| 7.2 77.8 64 | M\F% IHF | 60 | 52 1112(31.2| 80.8
2 547 PAAY f&— | 52 | 51 1103|25.2| 77.8| |6 54| KA FFE | 52 | 47 | 99 |18.0| 81.0
26 | XI & | 51| 45| 96 |18.0| 78.0 66 | = £ 149 | 56 |105/24.0| 81.0
27 | BE 1ER$ | 48 | 48 | 96 |18.0| 78.0 67 | /N8 H | 57| 47 104|22.8| 81.2
28 |tE4KRE=3R| 53 | 55 |108|30.0| 78.0 68 | i Z=BE | 51 | 51 |102/20.4| 81.6
29 | /ML E# | 47 | 48 | 95 |16.8] 78.2 690 | ZEAff AIE | 59 | 51 |110(27.6| 82.4
3047 P IfSA | 46| 49 | 95 |16.8]| 78.2| |7 04| K¥F &M | 60 | 49 |109|25.2| 83.8
31 | A BZ | 51| 50 101(22.8| 78.2 71 | B8R J\+4 | 62 | 53 |115|31.2| 83.8
32 | JBE 1& | 59| 53 112|33.6| 78.4 72 | A4 EfFF | 61 | 55 |116(31.2| 84.8
33 | A EE | 52| 48 100|21.6| 78.4 73 | =F HW&— | 59| 51 110(25.2| 84.8
34 | A X | 51 | 49 |100/|21.6| 78.4 74 | AR J#ER | 47 | 49 | 96 |10.8| 85.2
3547 DOEE 52K | 52 | 48 |100/21.6| 78.4| |7 54| PJE 353 | 62 | 46 |108|22.8| 85.2
=ice| F¥F OIFES) | 54 | 57 |111(32.4| 78.6 76 | =—H B#)]F | 63 | 56 1119|32.4| 86.6
37 | [ BAEZ | 50 | 49 | 99 |20.4| 78.6 77 | £8 Lz | 56| 68 |124|34.8| 89.2
38 | &= Z:E | 47 | 40 | 87 | 8.4 78.6| |BBE| E OUE | 65| 69 |134(36.0| 98.0
39 | &K E | 50|49 99 204| 78.6| |BME| A4 BE | 95| 95 |190|36.0/154.0
4047 MR Flz | 45| 48 | 93 |14.4| 78.6




